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119922 TVYT kneeBas 4.0/1.0 uepnas (4:1) 4 1 1 1
119930 TVYT kneeBas 6.0/1.5 uepnas (4:1) 6 15 1 1
119929 TVYT kneeBas 8.0/2.0 uepnas (4:1) 8 2 1 1
119928 TVT kneeBas 12.0/3.0 gepnast (4:1) 12 3 14 1 &
119927 TVT xkneeBas 16.0/4.0 gepnast (4:1) 16 4 1,6 1 %
119926 TVYT xneeBas 20.0/5.0 gepHast (4:1) 20 5 1,8 1 E
119925 TYT kneeBas 24.0/6.0 yepnas (4:1) 24 6 2,1 1
119924 TVT xneeBas 32.0/8.0 gepnast (4:1) 32 8 2,4 1
119923 TVYT kneeBas 40.0/10.0 guepras (4:1) 40 10 2,4 1 = <
119931 TVYT kneeBas 50.0/13.0 uepnas (4:1) 50 13 2,4 1 = E S, ? =
120541 TYTHr kneesas 12.0/3.0 yepnas (4:1) 12 3 14 1 5 © § < = —
120540 TYTwr kneesas 20.0/5.0 yepnas (4:1) 20 5 1,8 1 - w
120544 TYTHr kneesas 4.0/1.0 uepnast (4:1) 4 1 1 1 8 2 §
120543 TYTar kineesas 6.0/1.5 yepuas (4:1) 6 15 1 1 2 ° 5
120542 TYTHr kneesas 8.0/2.0 uepnast (4:1) 8 2 1 1 i
120688 TVYT kneeBas 6.0/1.5 uepn (4:1) 100m 6 6 1 100 £
120689 TVYT kneesas 8.0/2.0 ueps (4:1) 100m 8 2 1 100 § <
120690 TVYT kneesas 12.0/3.0 gepn (4:1) 50m 12 3 1,4 50 e cE
120685 TVYT kneesas 16.0/4.0 gepn (4:1) 50m 16 4 1,6 50 2 5
120687 TVYT kneesas 4.0/1.0 uepn (4:1) 200m 4 4 1 200 =




